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 BECC-108  

B.A. ECONOMICS (HONOURS) 

(BAECH) 

Term-End Examination 

June, 2022   

BECC-108 : INTERMEDIATE MICROECONOMICS II  

Time : 3 hours Maximum Marks : 100 

Note :  Attempt questions from each section as per the 

given instructions.    

SECTION A 

Attempt any two questions from this section. Each 

question carries 20 marks.    220=40 

1. In case of a monopolistic competition, market 

demand curve is    

  Q = 60 – P 

                   and MC = 12.  

 where, Q = Quantity, P = Price, MC = Marginal 

Cost.    

(a) Calculate the profit maximising output and 

price.    10    

(b) What will be the deadweight loss to the 

society ?   6   

(c) Represent the equilibrium diagrammatically.  4      
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2. (a) What is a Social Welfare Function ? 

Explain the different types of social welfare 

functions.  12     

(b) What is the role of value judgments in 

decision-making ?  8 

 

3. Following is a normal form of game in which 

each firm has two strategies (low price, high 

price) :     

                                          Firm B 

Firm A 

 Low Price High Price 

Low Price (2, 2) (4, –1) 

High Price (–1, 4) (6, 5) 

(a) Write the game in extensive form.  4 

(b) What is the dominant strategy of firm A and 

firm B ? 5 

(c) Find the Nash equilibrium in pure strategy.  5 

(d) Derive the Mixed Strategy Nash 

Equilibrium. 6 
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4. (a) What is Market Failure ? How does 

asymmetrical information lead to market 

failure ?  8  

 

(b) What is meant by the Principal Agent 

Problem ? What leads to the principal agent 

problem and how can it be corrected ?  12 
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SECTION B 

Attempt any four questions from this section.  

Each question carries 12 marks. 412=48 

5. What is Marginal Rate of Product 

Transformation (MRPT) ? What will be the 

slope in the transformation case of two goods  12  

 where, MCx = 20 

              MCy = 30  

6. In a two good – two trader model, there are 

1000 units of commodity-1 and 800 units of 

commodity-2. Explain what additional 

information is required to determine the 

contract curve and the competitive equilibrium 

(if any). Explain with the help of diagram.  12  

7. What are the main characteristics of public  

goods ? Explain the role of government in 

optimal provision of public goods.   12  

8. Explain the problem of adverse selection and 

moral hazard.    12  

9. How are prices determined under collusive 

oligopoly ? Suppose there are two firms  

(1 and 2). If demand function is 

 P = 20 – Q (with Q = Q1 + Q2) 

 MC = 0 

where, P = Price, Q = Quantity, MC = Marginal 

cost.  

If they form a cartel, what will be the 

equilibrium output for both the firms ?  12 
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10. How is the long-run equilibrium under 

monopolistic competition different from that of 

monopoly ?   12  

11. The equilibrium output of a monopolistic 

competitive firm is 30 units.  

 TC = 0.25q2 – 10q + 400 

q is the level of output.  

What is the efficient level of output ? Do you think 

the firm is producing at the efficient level ?  12 
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SECTION C 

Attempt all the questions from this section.  

Each question carries 6 marks.  26=12  

12. Write short notes on any two of the following :   23=6 

(a) Excess capacity   

(b) Price discrimination  

(c) Contract curve 

(d) Subgame perfect Nash equilibrium   

13. Differentiate between any two of the  

following :  23=6 

(a) Simultaneous move and Sequential move 

game     

(b) Cournot and Stackelberg model of oligopoly    

(c) Third degree and Second degree price 

discrimination  

(d) Public goods and Private goods   
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 ~r.B©.gr.gr.-108  

 H$bm ñZmVH$ AW©emñÌ (Am°Zg©)  

(~r.E.B©.gr.EM.) 

gÌm§V narjm 

OyZ, 2022 

~r.B©.gr.gr.-108 : _Ü`dVu ì`{ï> AW©emñÌ II 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : àË`oH$ IÊS> go {XE JE {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE & 

IÊS> H$  

Bg IÊS> go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ  

20 A§H$ H$m h¡ &   220=40 

1. EH$m{YH$mar à{VñnYm© Ho$ {df` _|, ~mµOma _m±J dH«$ Bg 

àH$ma h¡ :   

    Q = 60 – P 

         VWm MC = 12.  

Ohm±, Q = _mÌm, P = H$s_V, MC = gr_m§V bmJV h¡ &   

(H$) A{YH$V_ bm^ àXmZ H$aZo dmbo CËnmXZ ñVa Ed§ 
H$s_V H$s JUZm H$s{OE &     10 

(I) g_mO H$mo {H$VZr {dewÕ hm{Z (deadweight loss) 

hmoJr ?      6 

(J) gÝVwbZ H$s pñW{V H$mo aoIm{MÌ Ûmam àX{e©V H$s{OE & 4 
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2. (H$) gm_m{OH$ jo_ \$bZ Š`m h¡ ? gm_m{OH$ jo_ \$bZ 

Ho$ {d{dY ê$nm| H$s ì`m»`m H$s{OE &  12   

(I) {ZU©` boZo _| _yë` {ZU©`Z H$s Š`m ^y{_H$m hmoVr  

h¡ ?    8 

3. {H$gr gm_mÝ` \$_© Ho$ ÚyV H$m {ddaU {ZåZ{b{IV h¡ 

{Og_| àË òH$ \$_© H$s Xmo aUZr{V`m± h¢ ({ZåZ H$s_V, Cƒ 

H$s_V) : 

                            \$_© B 

\$_© A 

 {ZåZ H$s_V Cƒ H$s_V 

{ZåZ H$s_V (2, 2) (4, –1) 

Cƒ H$s_V  (–1, 4) (6, 5) 

(H$) ÚyV H$mo {dñV¥V ê$n _| {b{IE &  4  

(I) \$_© A VWm \$_© B H$s à~b `w{º$ (dominant 

strategy) Š`m h¡ ?   5 

(J) {dewÕ `w{º$ _| Z¡e gÝVwbZ H$mo kmV H$s{OE &  5 

(K) {_{lV `w{º$ Z¡e g§VwbZ H$mo ì`wËnm{XV H$s{OE &  6  
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4. (H$) ~mµOma {d\$bVm Š`m h¡ ? {H$g àH$ma Ag_{_V 

gyMZm ~mµOma {d\$bVm H$s Amoa bo OmVr h¡ ?  8  

 

(I) ñdm_r A{^H$Vm© g_ñ`m go Š`m Ame` h¡ ? H$m¡Z-gm 

H$maH$ ñdm_r A{^H$Vm© g_ñ`m H$s Amoa bo OmVm h¡ 

Am¡a BgH$mo {H$g àH$ma R>rH$ {H$`m Om gH$Vm h¡ ?  12 
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IÊS> I 
Bg IÊS> go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 12 A§H$ 
H$m h¡ &   412=48 

5. CËnmX àË`mdV©Z gr_mÝV Xa (Marginal Rate of Product 

Transformation (MRPT)) Š`m h¡ ? Xmo dñVwAm| H$s 
àË`mdV©Z pñW{V _| T>mb (slope) Š`m hmoJr ?  12 

 Ohm±, MCx = 20 

   MCy = 30 

6. Xmo dñVw – Xmo ì`mnmar _m°S>b _|, dñVw-1 H$s 1000 BH$mB`m± h¢ 
VWm dñVw-2 H$s 800 BH$mB`m± h¢ & ì`m»`m H$s{OE {H$ 
AZw~ÝY dH«$ {ZYm©aU VWm à{VñnYu gÝVwbZ (`{X H$moB©) Ho$ 
{ZYm©aU _| H$m¡Z-gr A{V[aº$ gyMZm H$s Amdí`H$Vm hmoJr & 
aoIm{MÌ H$s ghm`Vm go ì`m»`m H$s{OE & 12 

7. gmd©O{ZH$ dñVw H$s _w»` {deofVmE± Š`m hmoVr h¢ ? 

gmd©O{ZH$ dñVwAm| Ho$ AZwHy$bV_ àmdYmZ _| gaH$ma H$s 
^y{_H$m H$s ì`m»`m H$s{OE &   12 

8. {dnarV M`Z VWm Z¡{VH$ Omo{I_ H$s g_ñ`m H$s ì`m»`m 
H$s{OE &   12 

9. H$nQ> gpÝY Aënm{YH$ma Ho$ AÝVJ©V H$s_V| {H$g àH$ma 
{ZYm©[aV hmoVr h¢ ? _mZ br{OE \$_©-1 VWm \$_©-2 Xmo \$_] h¢ & 
`{X _m±J \$bZ Bg àH$ma h¡ 
 P = 20 – Q (Q = Q1 + Q2 g{hV) 
 MC = 0 

Ohm±, P = H$s_V, Q = _mÌm, MC = gr_mÝV bmJV h¡ &  
`{X `o \$_] g§JwQ> (Cartel) ~Zm boVr h¢, Vmo XmoZm| hr \$_m] Ho$ 
{bE g§Vw{bV CËnmXZ Š`m hmoJm ?  12 
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10. EH$m{YH$mar à{VñnYm© Ho$ AÝVJ©V XrK©H$mbrZ g§VwbZ {H$g 
àH$ma EH$m{YH$ma Ho$ AÝVJ©V XrK©H$mbrZ g§VwbZ go {^Þ 
hmoVm h¡ ?    12 

11. EH$m{YH$mar à{VñnYu \$_© H$m g§VwbZ ñVa na CËnmXZ  
30 BH$mB© h¡ &    

 TC = 0.25q2 – 10q + 400 

q CËnmXZ Ho$ ñVa H$mo ì`º$ H$aVm h¡ &  

CËnmXZ H$m XjVm ñVa Š`m hmoJm ? Š`m Amn Eogm _mZVo h¢ 

{H$ \$_© XjVm ñVa na CËnmXZ H$a ahr h¡ ?  12 
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IÊS> J 

Bg IÊS> go g^r àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 6 A§H$ H$m  
h¡ &  26=12 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±>  

{b{IE :   23=6 

(H$) A{VaoH$ j_Vm 

(I) H$s_V {d^oX 

(J) AZw~ÝY dH«$ 

(K) CnÚyV nyU© Z¡e gÝVwbZ  

13. {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ~rM AÝVa ñnï>  

H$s{OE :  23=6 

(H$) g_gm_{`H$ Mmb ~Zm_ H«${_H$ Mmb ÚyV  

(I) Aënm{YH$ma Ho$ Hy$Zm} VWm ñQ>oH$b~J© à{V_mZ  

(J) V¥Vr` H$mo{Q> VWm {ÛVr` H$mo{Q> H$m H$s_V {d^oX  

(K) gmd©O{ZH$ dñVw VWm {ZOr dñVw 

 


